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21. Out of the given words, one word is misspelt. Find the misspelt word.
A) outright B) othering
C) omlette D) offspring

22. Choose the synonym of the word 'woe' from the following words.
A) distress B) candid
C) childish D) illusion

23. Provide a suitable question tag for the following statement: They are
coming to the party,

A) Isn't it? B) Won't they?

C) Aren't they? D) Will they?

24. Choose the correct meaning of the phrase "to let the cat out of the bag".
A) Set the cat free B) To clean out the bag
C) To let something take its own course D) To reveal a secret



25. Don't look down __ the poor.

(A) at (B) below (C) upon (D) to
26. Thisis ___ mountain in the area. Are you sure you can climb it?

(A) steep (B) the steeper

(C) as steep as (D) the steepest

27. Regular exercise and controlled diet are conducive ___ good health.

(A) for (B) with (C)in (D) to
28. Either the captain or his crew ___ responsible for the mishap.
(A) is (B) am (C) are (D) was

29. Complete the sentence. | would have bought a gift, if
A) you called me on your birthday
B) you had called me on your birthday
C) you would call me on your birthday
D) you call me on your birthday

30. Each one of you special.
A) are B) is C) have D) were

31. The carriage rack is running over which wheel?
A)Escapement B)Pinion
C) Marginal stops D) Type basket

32)How many types of scales are there in a typewriter?

A)4 B)3 C)2 D)1

33) The type bars are connected in segment slots by:
(A) Pull wise (B) Screws

(C) Small springs (D) Fulcrum wire

34) The card holder is used for:

(A) The typing work

(B) Holding the post cards firmly to the cylinder for typing extreme end
(C) Typing envelop address

(D) Typing statements

35) Master keys in the typewriters are:



(A) a &; B)z&p (C)horn (D) morn
36) The scale between the type guide and the cylinder is known as:
(a) Paper bail scale (b) Marginal scale

(c) Line finder scale (d) None of the above

37)Type bar is fitted with:

(a) Two capital letters (b) Two characters

(c) Two small letters (d) One capital letter and one small letter
38) Cylinder and feed rolls rotate in:

(a) Same direction (b) Opposite direction

(c) Clock wise direction (d) None of the above

39) 76. The following is used to type on ruled paper:
(a) Thumb wheels (b) Paper release lever
(c) Variable push button (d) Shift key

40) When___ key is pressed the whole carriage goes down
(a) Character key (b) Back spacer key
(c) Shift key (d) Plus button

41. You want to retrieve rows from a table employees where the salary is
either exactly 50000 or contains the digit 50000 somewhere within it. Which
qguery will achieve this?
a) SELECT * FROM employees WHERE salary = '50000';
b) SELECT * FROM employees WHERE salary LIKE '50000';
c) SELECT * FROM employees WHERE salary = 50000 OR salary LIKE
'%50000%";
d) SELECT * FROM employees WHERE salary IN (50000) AND salary LIKE
'%50000%";

42. Which of the following queries deletes all rows from the orders table, but
retains the table structure and its constraints?

a) DELETE FROM orders;

b) TRUNCATE TABLE orders;

c) DROP TABLE orders;

d) DELETE * FROM orders;

43. What will the following SQL statement achieve?
GRANT SELECT, INSERT ON employees TO user123;



a) Grants all privileges on the employees table to user123.

b) Grants only SELECT privilege on the employees table to user123.

c) Grants SELECT and INSERT privileges on the employees table to user123.
d) Grants UPDATE and DELETE privileges on the employees table to user123.

44. Which of the following best describes a key advantage of using a Relational
Database over a Flat Database?

a) Relational databases store data in a single table, making it easier to retrieve.
b) Relational databases allow data to be stored in multiple related tables,
improving data consistency and reducing redundancy.

c) Flat databases provide faster query performance due to the simplicity of
their structure.

d) Flat databases enforce entity and referential integrity constraints better
than relational databases.

45. What is the purpose of a Foreign Key in a relational database?

a) To uniquely identify records within its own table.

b) To enforce entity integrity within a single table.

c) To establish a relationship between two tables by linking the primary key of
one table to another.

d) To limit the data stored in a table by imposing a constraint on its values.

46. If you want to create a list of items where each item is represented with
numbers (e.g., 1, 2, 3), which HTML tag would you use?

a) <ul>

b) <ol>

c) <li>

d) <dI>

47. Which of the following HTML tags is used to define a multi-line text input
field within a form?

a) <input type="text">

b) <textarea>

c) <select>

d) <form>

48. What is the behavior of the onload event in JavaScript?

a) It is triggered when a user clicks on an element.

b) It is triggered when an element or the entire document has fully loaded,
such as an image or page.



c) It is triggered when a user unloads a page by closing the tab or navigating
away.
d) It is triggered when a user hovers over an element with the mouse.

49. Which of the following correctly describes the behavior of the onblur event
in the context of the Document Object Model (DOM)?

a) It triggers when the user clicks on an element.

b) It triggers when the user moves the mouse over an element.

c) It triggers when an element loses focus, typically after user interaction like
typing or clicking away.

d) It triggers when the page finishes loading all content.

50. Consider the following code snippet. What will happen when the form is
submitted?

<form onsubmit="return false;">

<input type="text" value="Hello">

<button type="submit">Submit</button>

</form>
a) The form will be submitted and the page will reload.
b) The form will not be submitted because the onsubmit event handler returns
false.
c) The form will submit, but the input value will be cleared.
d) The form will throw an error due to missing validation.

51.  isthe readymade formats which are provided in the word processor.
(A) Templates (B) Symbol

(C) Webdings (D) Equation

52.  feature of MS Word helps to create a list in a document.

A)Word Art B) Scaling

C) Bullets and Numbering D) Word Wrap

53. In MS Word, "Ctrl + Home" is used to
A. Moves the cursor to the beginning of Document
B. Moves the cursor to the beginning of Line
C. Moves the cursor to the beginning of Paragraph
D. All of the above

54. Which of the following best describes the MS-Word software?
A. ltis a firmware.
B. Itis a word processor.



C. ltis a GUI-based operating system
D. Itis a system software.

55. Objects on the slide that hold text are called
A. Auto layouts
B. Object holders
C. Text holders
D. Place holders

56. Which of the following is not one of the PowerPoint's View?
A. Slide Sorter View
B. Presentation View
C. Outline View
D. Normal view

57. Which of the following is not a valid function in MS Excel?
A. SUM()
B. COUNT()
C. SUBTRACT()
D. COUNTA()

58. A Doughnut chart in Excel in similar to:

A. Bubble chart

B. Bar chart

C. Scatter chart

D. Pie chart
59. Which of the following methods CANNOT be used to enter data in a cell in
MS Excel?

A. Pressing an arrow key

B. Pressing the tab key

C. Pressing the Esc key

D. Clicking the enter button to the formula bar
60. Which of the following is an absolute cell reference?

(A) SA1 (B) SAS1 (C) AS1 ( D) &A&1

61.Which of the following statements are True?
I.  VB.Netis an object-oriented programming language.
II. VB.Netis an Case Sensitive programming language.
A. Both Are true
B. 10nly



C. I Only
D. Il'is not a explanation for |

62. In VB.NET are declared using the followed by the variable
name and optionally the type.
A. Var
B. Int
C. Dim
D. Dir
63. Which of the following correctly declares an array in C++?
A. array{10};
B. array array[10];
C. intarray;
D. int array[10];
64. What is meant by a polymorphism in C++?
A. class having only single form
B. class having four forms
C. class having many forms
D. class having two forms
65. Which .NET technology is specifically designed for building web
applications?
A. WPF (Windows Presentation Foundation)
B. WCF (Windows Communication Foundation)
C. ASP.NET
D.ADO.NET
66. IDE stands
A. Integrate Development Environment
B. Integrated Development Environment
C. Integral Development Environment
D. Integrated Developing Environment

67. Which generation of computer is currently under development?
(A) Third Generation (B) Fourth Generation
(C) Fifth Generation (D) Sixth Generation

68. The best quality graphics reproduction is produced by:
(A) Line printer (B) Plotter
(C) Ink jet printer (D) Daisy wheel printer

69. Algorithm and Flow chart help us to:
(A) Know the input details



(B) Know the output details
(C) Direct the output to a printer
(D) Specify the problem completely and clearly

70. -Name the coding standard developed by IBM, primarily for use with
mainframes.

A. EBCDIC

B. Unicode

C. ASCII

D. ISO

71. The study, analysis and practice of environmentally sustainable computing
is called

A)Green Computing B)Artificial Intelligence

C) Data Warehousing D) All of these

72. Choose the search engine from the following:
A)Mozilla Firefox B)Yahoo
C)Windows Explorer D)Internet Explorer

73. Font size measured in
(A) Inches (B) Pixels (C) Spikes (D) Points

74. Capacity of a single sided blu-ray disc
(A) 25 GB (B) 30 GB (C)50GB (D) 40 GB

75. Not a networking device
(A) Switch (B) Bridge (C) Hub (D) None of these

76. Which HTML element that have no content ?
(A) <br> (B) <P> (C) <a> (D) None of these

77) The super computer used for playing chess is
(A) Gravity Pipe (B) Deep Blue
(C) Deep Crack (D) None of the above

78) Which of the following are features of primary storage?
(A) Large capacity and volatile (B) Small capacity and volatile large

(C) Large capacity and non-volatile (D) Small capacity and non-volatile

79)1024 GB =



A)1TB B)1 PB C)1GB D)None of these

80) The term GHz is an indicator of which feature of the computer?
A)Number of Pixels B)Screen Resolution
C)Speed D)Storage

81. The length of a train and that of a platform are equal. If with a speed of 90
km/hr the train crosses the platform in one minute, then the length of the train
(in metres) is :

(A) 500 (B) 600 (C) 750 (D) 900
(-1)3x(-1)> _

=y =

(A)—1 (B)1 (C)o (D)2

83.In an AP, the ratio of the 2nd term to the 7th term is % . If the 5th termis

11, what is the 15th term?
(A) 33 (B) 36 (C) 28 (D) 31

84. Find the odd one out from the following :
(A) Square (B) Cuboid (C) Triangle (D) Rectangle

85. What is the area of a sector if the radius is 10 cm and the central angle is
36°?
(A)10 T cm? (B) 20  cm? (C) 30 T cm? (D) 40 T cm?

86. A person starts from a point A and travels 3 km Eastwards to B and then
turns left and travels thrice that distance to reach C. He again turns left and
travels five times the distance he covered between A and B and reaches his
destination D. The shortest distance between the starting point and the
destination is :

(A) 18 km (B) 12 km (C) 16 km (D) 15 km

87.1f the ratio of two positive numbers is 5 : 6 and the product is 480 then the
greatest number is
A) 6 B) 48 C) 24 d) 12

88. At what angle the hands of a clock are inclined at 50 minutes past 4 ?
A) 125 B) 150 C) 155 D) 160



89. If the 6th day of a month is 2 days earlier than Thursday. What day will it be
on the 18th day of the month ?
A) Tuesday B) Wednesday C) Sunday D) Monday

90.A class of girls stands in a single line. One girl is seventeenth in order from
both the ends. How many girls are there in the class ?
A) 32 B) 33 C) 34 D) 31

91. Consider the following statements and choose the correct answer using the
code given below :

(i) The Himalayas between Satluj and Kali rivers is known as Nepal Himalayas
(ii) The Greater Himalayas is otherwise known as Himadri

(iii) Himalayas is the youngest and the loftiest mountain chains in the world (
iv) Dhaulagiri Peak is located in Trans Himalayas

Codes:

(A) Statement (i) and (ii) are incorrect, and (iii) and (iv) are correct

(B) Statement (i), (ii) and (iv) are incorrect, and (iii) is correct

(C) Statement (i) and (iv) are incorrect and (ii) and (iii) are correct

(D) Statement (ii) is incorrect and (i), (iii) and (iv) is correct

92. The Chairperson of GST council is :
(A) The President of India (B) The Prime Minister of India
(C) Governor of the RBI (D) None of these

93. Who is the Vice Chairperson of Kerala State Planning Board 20247
(A) Prof. V.K. Ramachandran (B) Prof. V.R. Subrahmanyam
(C) Prof. V.K. Ramakrishnan (D) Prof. V.R. Sudarshanan

94. The National Waterway 3 (NW3) of India stretch between
A) Sadia — Dhubri B) Kakinada — Puducherry
C) Kottapuram — Kollam D) Allahabad — Haldia

95. The report titled “The Indian Economy — A Review”, is an alternative of
Economic Survey 2024, is authored by

A) Krishnamurthy Subramanian B) mr. Satyendra Kishore

C) V. Anantha Nageswaran D) Shri. S. Ramakrishnan

96. Which State in India offered 50% reservation for women in local bodies for
the first time ?
A) Bihar B) Kerala C) Karnataka d) Himachal Pradesh



97. Official calligrapher of Indian Constitution
A) Prem Behari Narain Raizada B) Ram Parshad
C) N.V. Gadgil D) Nand lal Bose

98. Who led the anti-Colonial Tribal revolt of 1812 in the jungles of Wayanad?
(A) Raman Namby (B) Thalakkal Chandu
(C) Pazhassi Raja (D) Edachana Kunkan

99. Which five-year plan did the Government introduce Insurance Regulatory
Authority in India?

(A) Seventh Five Year Plan (B) Ninth Five Year Plan

(C) Tenth Five Year Plan (D) Eleventh Five Year Plan

100. Which book won the first Vayalar Award?
(A) Randamoozham (B) Ummachu
(C) Agnisakshi (D) Eni Njan Urangatte



